
71 'LDJQRVWLFV
,I WKH UHG OLJKW RQ WKH IURQW RI WKH ELOO YDOLGDWRU LV 21 LQVHUW ELOO DQG UHPRYH LW DIWHU WKH
UHG OLJKW JRHV 2))1 &RXQW WKH QXPEHU RI UHG IODVKHV DQG FRPSDUH ZLWK WKH GLDJQRVWLF
FKDUW EHORZ1
& 'HVFULSWLRQ & 'HVFULSWLRQ
4 &DVVHWWH LV UHPRYHG IURP ELOO

DFFHSWRU
: )DLOXUH RI PDJQHWLF VHQVRUV

5 6WDFNLQJ PRWRU GRHV QRW URWDWH ; 7UDQVSRUW PRWRU GRHV QRW PRYH
6 &DVVHWWH LV IXOO < 6SHHG RI WUDQVSRUW PRWRU LV WRR

KLJK
7 0HFKDQLFDO MDP LQ WKH FDVVHWWH 43 7UDQVSRUW PRWRU HOHFWULFDO RYHUORDG
8 6WDFNLQJ PRWRU HOHFWULFDO

RYHUORDG
44 %LOO SDWKZD\ VHFXULW\ ODWFK LV RSHQ

9 )DLOXUH RI RSWLFDO VHQVRUV 45 %DQNQRWH LV LQ WKH HQWU\ VORW RI WKH
FDVVHWWH DQG FUHGLW*V QRW LVVXHG

1RWHV=
x ,I WKH ELOO ZDV LQVHUWHG EXW WKH UHG OLJKW RQ WKH IURQW RI WKH ELOO DFFHSWRU GLG QRW JR

2)) WKHUH LV D IDLOXUH LQ FRPPXQLFDWLRQ1
x :KHQ GLDJQRVWLFV LV FRPSOHWHG WKH UHG OLJKW EHFRPHV VWHDG\ DJDLQ1 'R QRW FRQVLGHU

LW DV D IODVK DQG GR QRW FRXQW LW1

&DVK&RGH &RPSDQ\ ,QF1
886 %DVDOWLF 5G1 &RQFRUG/ 2QWDULR &DQDGD1 /7. 7:;

7(/= +<38, 6360;;:7 +;33,08;705966
)$;= +<38, 6360;;:8 +;33,08<605966

� 4<<;04<<</ &DVK&RGH &R1 ,QF 37& 8*B3:$506 5HY1( 3:2<<

459 %LOO 9DOLGDWRU
ZLWK 6WDFNHU

8VHU¶V *XLGH

8650&6%0673:006

0RGHO $0=086$04870+57
IRU &DVK&RGH� 6HULDO/ 3XOVH
DQG %L0'LUHFWLRQDO ,QWHUIDFHV

41 *HQHUDO 6SHFLILFDWLRQV=

&855(1&<= '4/ '8 86$ 'ROODUV

,17(5)$&(6= 3XOVH ,QWHUIDFH
&DVK&RGH 6HULDO ,QWHUIDFH +0(, FRPSDWLEOH,

(/(&75,&$/ 63(&,),&$7,21=
2SHUDWLQJ 9ROWDJH 0D[LPXP 2SHUDWLQJ &XUUHQW 0D[LPXP 2YHUORDG &XUUHQW

+W?515 VHF,

43«47 9 '& 31;8 $ '& 518 $ '&
8VH RQO\ FXUUHQW OLPLWLQJ &6$ RU 8/ UHFRJQL]HG &/$66 5 3RZHU 6XSSO\1

23(5$7,1* 7(03(5$785(= 03 WR .83 GHJUHHV &HOVLXV
727$/ :(,*+7 :,7+287 &$66(77( ? 415 NJ
(1&/2685(= %LOO 9DOLGDWRU 3DUW &=8650&6%0673:006

8VHU*V *XLGH= 3DUW & 23708*03:$506
$FFHVVRULHV= 3RZHU +DUQHVV/ 3DUW & $0=0;;;045039

-XPSHU &RQQ1 3DUW & $0=0;;;03&04;
)URQW /DEHO/ 3DUW & $0=0/%0865

237,21$/ $&&(6625,(6=
6HULDO ,QWHUIDFH 7HVW DGDSWHU> 3DUW & 2370;;;0&6



51 ',3 VZLWFKHV OD\RXW DQG FRQQHFWRU SLQRXW=

7R DFFHVV 6ZLWFKHV UHPRYH WKH FRYHU

9 SLQ FRQQHFWRU SLQRXW
3LQ '(6&5,37,21 :,5( &2/285
4 .459 '& <HOORZ
5 *1' %ODFN
6 3XOVH 2XWSXW +12, *UHHQ
7 &RPPRQ %OXH
8 ,QKLELW /LQH +., :KLWH
9 ,QKLELW /LQH +0, %URZQ
0DWLQJ FRQQHFWRU=
02/(;= 4803708397 04SFV> 8308:0<636 05SFV> 49035033<9 09SFV>

4; SLQ FRQQHFWRU SLQRXW
3LQ '(6&5,37,21 3LQ '(6&5,37,21
4 &UHGLW 3XOVH 43 2XW RI VHUYLFH
5 ,QWHUUXSW 44 7';
6 6HULDO23XOVH 6HOHFW 45 $FFHSW (QDEOH
7 &RPPRQ 46 /(' 3RZHU 6RXUFH
8 6HULDO 'DWD 2XWSXW 47 6HQG
9 5HVHUYHG 48 5HVHUYHG
: 5HVHUYHG 49 (VFURZ25';
; 5HVHUYHG 4: 5HVHUYHG
< 5HVHUYHG 4; 5HVHUYHG
0DWLQJ FRQQHFWRU=
$03= 4356<;0: 0 4SFV> 4359;407 0 4SFV> 4358690: 0 4SFV>

61 ,QWHUIDFHV

6141 3XOVH ,QWHUIDFH 6SHFLILFDWLRQV=
)DVW 3XOVHV= 3XOVH 83 PV 0 3DXVH 83 PV
6ORZ 3XOVHV= 3XOVH 83 PV 0 3DXVH 633 PV
3XOVH PRGHV= 4SXOVH> 5SXOVHV> 6SXOVHV> 7SXOVHV 2'4
)HDWXUHV= 3XOVH DFFXPXODWLRQ PRGH DQG ,QKLELW OLQH

,VRODWHG DQG 1RQ0LVRODWHG 3XOVH RXWSXW

,62/$7(' 38/6( ,QWHUIDFH +,1+,%,7 /,1( IHDWXUH GLVDEOHG,
41 6HW ',3 6ZLWFKHV ;+RI ;,021 SRVLWLRQ1
51 8VH 9 3LQ 3RZHU +DUQHVV 37& $0=0;;;0450391 7KH 3XOVH 2XWSXW LV D ERXQFH IUHH
122 FRQWDFW DQG SRODULW\ RI WKH RXWSXW ZLULQJ GRHV QRW PDWWHU1

,62/$7(' 38/6( ,QWHUIDFH +,1+,%,7 /,1( IHDWXUH HQDEOHG,
41 6HW ',3 6ZLWFKHV ; +RI ;,02)) SRVLWLRQ1
51 $SSO\ -XPSHU &RQQHFWRU 37& $0=0;;;038/04; WR 4; 3LQ FRQQHFWRU RI WKH ELOO
DFFHSWRU1

61 &RQQHFW WKH ELOO DFFHSWRU WR WKH PDFKLQH FRQWUROOHU YLD 9 3LQ 3RZHU +DUQHVV 37&
$0=0;;;0450391 7KH 3XOVH 2XWSXW LV D ERXQFH IUHH 122 FRQWDFW DQG WKH
SRODULW\ RI WKH RXWSXW FRQQHFWLRQ GRHV QRW PDWWHU1

71 &RQQHFWLRQ WR WKH ,1+,%,7 /,1( GHSHQGV RQ WKH PDFKLQH FRQWUROOHU ORFNRXW
FLUFXLWU\1 6HH ILJXUH EHORZ=

6151 &DVK&RGH 6HULDO ,QWHUIDFH
41 6HW ',3 6ZLWFK ; +RI ;, ± 2)) SRVLWLRQ1
51 3URYLGH WKH SRZHU WR WKH ELOO DFFHSWRU YLD 9 SLQ 3RZHU KDUQHVV1
61 &RQQHFW WKH ELOO DFFHSWRU WR WKH PDFKLQH FRQWUROOHU YLD 4; 3LQ 6HULDO +DUQHVV
&DVK&RGH� 6HULDO ,QWHUIDFH +0(, FRPSDWLEOH, 6HULDO PHVVDJHV=
;4K
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